#include   <stdio.h> 
char   msg0[]={0xAB,0x04,0xCF,0x69,0xE8,0xD5,0x5C,0xAB,0x01,0xA0,0xB4}; 
char   msg5[]={0xAB,0x01,0x35,0x1F}; 

main(int   argc,char   **argv) 
{ 
//         char   ups_addr[]="10.11.133.245"; 
//         char   ups_addr[]="10.11.134.241"; 
//         char   ups_addr[]="10.11.128.225"; 
        char   *ups_addr,*ups_name; 
        int   ups_port=7010; 
        int   sockfd; 
        int   addr_len; 
        char   sock_buf[4096],dsp_msg[4096]; 
        int   buf_len; 
        int   i,len; 

        if   (argc!=3)   { 
              printf("Usage:   ups   name   ip_address/n");   exit(0); 
        } 
        ups_name=argv[1]; 
        ups_addr=argv[2]; 
        sockfd=open_sock(0); 

        snd_msg(sockfd,msg0,sizeof(msg0),ups_addr,ups_port); 
        snd_msg(sockfd,msg5,sizeof(msg5),ups_addr,ups_port); 

        for   (i=0;i <3;i++)   { 
            char   addr[64]; 
            int   port; 
            if   ((len=rec_msg(sockfd,sock_buf,sizeof(sock_buf)-1,addr,&port,10))> 0) 
                  break; 
        } 

        if   (len <=0)   {   printf("/007%s   通讯错误/n",ups_name);   exit(0);   } 

        *dsp_msg='/0'; 
        if   (sock_buf[31])   strcat(dsp_msg,"线同步   "); 
        if   (sock_buf[34])   strcat(dsp_msg,"逆变器温度   "); 
        if   (sock_buf[35])   strcat(dsp_msg,"过载   "); 
        if   (sock_buf[36])   strcat(dsp_msg,"直流过压   "); 
        if   (sock_buf[42])   strcat(dsp_msg,"低电压   "); 
        if   (sock_buf[43])   strcat(dsp_msg,"交流输入   "); 
        if   (sock_buf[44])   strcat(dsp_msg,"过电压   "); 
        if   (sock_buf[46])   strcat(dsp_msg,"充电   "); 
        if   (sock_buf[48])   strcat(dsp_msg,"电池供电   "); 
        if   (sock_buf[49])   strcat(dsp_msg,"旁路   "); 
        if   (sock_buf[51])   strcat(dsp_msg,"测试   "); 
        if   (*dsp_msg)   printf("/007%s   %s/n",ups_name,dsp_msg); 

}
